
Calculate the area of non-rectilinear 
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If the area of   = 1 cm2, what is the area of each shape?

4 + ½ + ½ + ½ + ½ = 6 cm2

5 x 4 = 20 cm2

20 cm2 - 8 = 12 cm2  

Area of non-rectilinear shapes
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If the area of   = 1 cm2, what is the area of each shape?

These two 
make up 
approximately 
one square.

These two make up 
approximately one square.

Area of non-rectilinear shapes
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Independent Task

grass
the green
sand bunker
water
bushes

Estimate the area of
each section of this
hole of the golf course.


